
Hyperbolic function arose from comparison of the area of a 
semicircular regions with the area of a region under a 

hyperbola. 
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1.   f(x) = cosh (x - 2) 
 

 

 

 



1.   f(x) = cosh (x - 2) 

 
f ’(x) = 1∙ sinh (x -2) 

 



2.   y = tanh(3x2 - 1) 

 



2.   y = tanh(3x2 - 1) 

 
y’ = 6x∙ sech2 (3x2 -1) 



3.   g(x) = x cosh x –sinh x 
 

 



3.   g(x) = x cosh x –sinh x 

 
g’(x) = x ∙ sinh x + cosh x – cosh x 

 

g’(x) = x ∙ sinh x 
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2.   ∫ sech2 (2x - 1) dx 

 



2.   ∫ sech2 (2x - 1) dx 

Let u = 2x – 1 

du = 2 dx 

du/2 = dx 

Now Substiture 

∫sech2 u du/2 

= ½ ∫sech2 u du 

= ½ tan u + C 

 

= ½ tan (2x – 1) + C 
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